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1(a) If 7'(¢) is the rate of change of the radius of a spherical balloon measured in centimeters per

second, what does the integral / t) dt represent, and what are its units?
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(b) Find the derivatives of g(z) = / (1 —4*)¥dv and h(z) = / (1 — %) dv.
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2(a) Find the area of the shaded region: XTI~y I?‘
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(b) Sketch carefully the region or regions Whose area is given by / |cosz — sinz|dz. Then find
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3. Use four rectangles to estimate the area under the curve y = /800 — z3 between z = 0 and
z = 8 as follows.

(a) Write down the sample points (choose left or right, and say which)-
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(b) Write out a complete numerical expression for the area estimate. You do not need to evaluate

the number. AX — % - D/Z
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(c) Express part (b) using sigma notation.
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(d) Write down an expression for the area estimate given by using n rectangles (using sigma
‘notation or not, as you like).
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4. Evaluate:
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(c) g(5) where g(z) = /11 f(t)dt and f is as shown:
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